
Michael C. Rodriguez EPSY 8269: Matrix Algebra; Based on Terwilliger (1993), Matrices & Vectors 

LINEAR EQUATIONS KEY 
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 What is the determinant of A = 








31

12
?   |A| =  (2)(3) – (1)(1) = 5 

 

Does this system of equations have a unique solution? YES 

 

 What is the determinant of A = 








22

11
?   |A| =  (2)(1) – (2)(1) = 0 

 

 Does this system of equations have a unique solution? NO 
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Find the determinant and inverse: 

 

1. A = [
  
  

] det(A) = 12 – 12 = 0, no inverse 

 

2. B = [
  
  

] det(B) = 18 – 18 = 0, no inverse 

 

3. C = [
  
  

] det(C) = 4 – 6 = -2 

 inv(C) =   [
   
   

]  [
       
   

] 

 

4. D = [
   
  

] det(D) = 6 – (-3) = 9 

 inv(D) =    [
  
   

]  [
      
       

] 

 

 

Find the determinant: 

 

5. E = [
    
   
   

] det(E) = 42 – 20 + 18 – 45 – 16 + 21 = 0 

 

 

6. F = [
    
   
   

] det(F) = 12 – 4 + 18 – 9 – 16 + 6 = 7 


